

PO Box 93999 Southlake, TX 76092

Voice: (817) 546-7282 Fax: (817) 246-3361

Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

INVOICE

Invoice Number: 131580
Invoice Date: Jun 18, 2012

Page: 1





Customer ID Shak	Well Name/# or Customer P.O. Habiger # 1-28	Payment Terms Net 30 Days	
KS1-01	Great Bend	Jun 18, 2012	7/18/12

Quantity	Item	Description	Unit Price	Amount
160.00	MAT	Class A Common	16.25	2,600.00
3.00	MAT	Gel	21.25	63.75
5.00	MAT	Chloride	58.20	291.00
172.00	SER	Handling	2.10	361.20
50.00	SER	Ton Miles	18.49	924.72
1.00	SER	Surface	1,125.00	1,125.00
50.00	SER	Heavy Vehicle Mileage	7.00	350.00
50.00	SER	Light Vehicle Mileage	4.00	200.00
1.00	EQUIP OPER	Light Vehicle Mileage Dustin Chambers Kerry Rose Light Vehicle Mileage JUL 0 2 2012		
1.00	EQUIP OPER	Kerry Rose	ary	
1.00	OPER ASSIST	Kevin Weighous	2000	
		Description of the second seco		
		Surface 1052-5		
		inen t		
		10502-5		
	·	Cubtatal		E 04E 6

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1478.91

ONLY IF PAID ON OR BEFORE
Jul 13, 2012

Payment/Credit Applied TOTAL	6,131.37
Total Invoice Amount	6,131.37
Sales Tax	215.70
Subtotal	5,915.67



ALLIE JOIL & GAS SERVICE J, LLC 053630

Federal Tax I.D.# 20-5975804

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT:

Great Bloodsto SEC. TWP. RANGE CALLED OUT ON LOCATION JOB START JOB FINISH DATE 6-18-12 3/1 7/cg 8%d5 COUNTY LOCATION SCOTT CITY & E STATE 54017 50n 797 OLD OR (NEW) Circle one) CONTRACTOR VW Dailing #8 OWNER TYPE OF JOB Sur Goce 12/14 **HOLE SIZE** T.D. CEMENT AMOUNT ORDERED 160 5/55 Class A 34-C **CASING SIZE** 85/8 DEPTH **TUBING SIZE** DEPTH 24.901 DRILL PIPE **DEPTH** TOOL DEPTH PRES. MAX @ 16.25 2600. MINIMUM COMMON 160 MEAS. LINE SHOE JOINT POZMIX @ CEMENT LEFT IN CSG. GEL PERFS. CHLORIDE @<u>58.20</u> DISPLACEMENT 15,64 BBG ASC @ EOUIPMENT **@** @ @ PUMP TRUCK CEMENTER Duson C # 39% BULK TRUCK @ HELPER KerryR @ # 344 BULK TRUCK @ DRIVER Kenny W @ @ DRIVER @ 2110 HANDLING 172 MILEAGE 7.87 x Sa REMARKS: TOTAL 42% SERVICE DEPTH OF JOB 260 PUMP TRUCK CHARGE EXTRA FOOTAGE @ 50 @ 7.00 MILEAGE _ HU W MANIFOLD @ @ CHARGE TO: Shope speare Oil co TOTAL 1675. 00 CITY____ STATE_ ZIP_ PLUG & FLOAT EQUIPMENT @ @ To: Allied Oil & Gas Services, LLC. @ @ You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or @ contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or TOTAL _ contractor. I have read and understand the "GENERAL SALES TAX (If Any)_ TERMS AND CONDITIONS" listed on the reverse side. TOTAL CHARGES 5. 915. PRINTED NAME & Jason Rickson DISCOUNT _ IF PAID IN 30 DAYS SIGNATURE & flow for !!



PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881



INVOICE

Invoice Number: 131717 Invoice Date: Jun 29, 2012

Page: 1





Customer ID	Well Name/# or Customer P.O.	Payment Terms Net 30 Days	
Shak	Habiger #1-28		
Job Location	Camp Location	Service Date	Due Date
KS1-03	Great Bend	Jun 29, 2012	7/29/12

Quantity	Item	Description	Unit Price	Amount
168.00	MAT	Class A Common	16.25	2,730.00
112.00	MAT	Pozmix	8.50	952.00
10.00	MAT	Gel	21.25	212.50
70.00	MAT	Flo Seal	2.70	189.00
301.32	SER	Cubic Feet	2.10	632.77
628.50	SER	Ton Mileage	2.35	1,476.97
1.00	SER	Rotary Plug	1,250.00	1,250.00
50.00	SER	Pump Truck Mileage	7.00	350.00
50.00	SER	Light Vehicle Mileage	4.00	200.00
1.00	CEMENTER	Wayne Davis		
1.00	OPER ASSIST	Marlyn Spangenberg		
1.00	EQUIP OPER	Kerry Rose		
		10 SO2-\$17		
	8			
		Subtotal		7 993 24

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1998.31

ONLY IF PAID ON OR BEFORE
Jul 24, 2012

Subtotal	7,993.24
Sales Tax	583.51
Total Invoice Amount	8,576.75
Payment/Credit Applied	
TOTAL	8,576.75



ALLIED OIL & GAS SERVICES, LLC 053703

Federal Tax I.D.# 20-5975804

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT:

Great Bend

DATE 6-29-12 SEC. TWP. RANGE	CALLED OUT	ON LOCATION	JOB START 5 30 Pm	JOB FINISH
LEASE Habigie WELL# 1-29 LOCATION Seat	4 C;+ X 8	East-	COUNTY	STATE
QLD OR NEW (Circle one) 4 No-+ 6				
CONTRACTOR	OWNED S	31 14 40	_	
TYPE OF JOB Rodaly Plus	OWNER <	shakesper	8	
HOLE SIZE 7 & T.D.	CEMENT			
CASING SIZE DEPTH		000000 70.	632 / 4	leer de
TUBING SIZE DEPTH	_ AMOUNT OF	RDERED <u>280</u> L ナゴトしい	<u>5x 60.</u>	790.1
DRILL PIPE 42 DEPTH 2 39)0	- 10 ac	L + 7 + 18 0	<u>= 6 (</u>	
TOOL DEPTH	-			
PRES. MAX MINIMUM		u O	~ 11.55	2.730,00
	_ COMMON_		_@ <u>/&.~</u>	952.90
MEAS. LINE SHOE JOINT CEMENT LEFT IN CSG.	_ POZMIX		_@_ <i>8:5</i> 0	
PERFS.	_ GEL _	<u> </u>		212.50
	CHLORIDE		_@	·
DISPLACEMENT	_ ASC		_@	
EQUIPMENT	Floses	<u>, 1</u>	_@ <i>Z.70</i> _	189,00
			@	
PUMPTRUCK CEMENTER way-			@	
			@	
BULK TRUCK				
#544/198 DRIVER Levey R			@	•
BULK TRUCK			_ @	
# DRIVER	- HANDLING	341.32	@ 2.10	632. 27
	MILEACE	257 X50 V	x 2.35	1.476.2
DEMANKO	MILLEAGE Z	<u> </u>		
REMARKS:			TOTAL	6.193.3
1 plus 2310 mix 505x				·
2 ml Plus 1560 Mix 80.5x	_	SERV	CE	
3-d Plux 750 Mix 500 X		<u></u>		
4th Plux 300 mix 5054	DEPTH OF I	OB 2310		
5th plus Go miy 200%	PUMPTRUC		/250.5	<u> </u>
Rat mix 30 8X	_ EXTRA FOO			
		HUM 50	_@ 00; <u></u> 0	350,00
			•	220,
	MANIFOLD	vm 50	-@ <u>-</u> /・ペン	200.00
		1000 30		<u> ~co· ~</u>
			@	
CHARGE TO: Shave Sperc				a 15
Partity to program			TOTAI	_ <u> </u>
STREET			•	
CITYSTATEZIP				
VI/11D		PLUG & FLOA	T EQUIPME	NT
,	•			
•				
·				
To: Allied Oil & Gas Services, LLC.				
You are hereby requested to rent cementing equipment				
and furnish cementer and helper(s) to assist owner or			@	
contractor to do work as is listed. The above work was				
			TOTAL	
done to satisfaction and supervision of owner agent or			IOIA	<u></u>
contractor. I have read and understand the "GENERAL	, 011 50 51 10	are A a		
TERMS AND CONDITIONS" listed on the reverse side	e. SALESTAX	(II Any)	24	
	TOTAL CHA	(If Any)	3. —	-
10 11.00				化二氯化二苯二苯二
PRINTED NAME JO HAPLIGER	DISCOUNT		IF PA	ID IN 30 DAYS
$\alpha \Omega / \Omega$				